EARAROBREBRT —5 XN—ZXBISH—F

2024118218 (R) 8EIEAI4E

UL 5 RS EEERERERRENT!

B U35%—K

‘(fﬁ} W ‘I%EH?’JF&] ~ | & 1500 sm

[AE%] 17%:3,800,000 9 ~ 23&:1,520,000 @ .~ 37&:950,000H  43&:570,000 §

5 7& 1 380,000 M4

B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
s 53 s 5 | HEY 1:35.0 1-1-1-1 [36.4| — 1 508 | EERIEA (AG18)
1H 2 37V7—yz 5.0 3 W) | B LRI —95TLy KR
RFITRATFIIN §:5T1— Y aois
© — FallssE : -5-3- - SHfE— (FT)
2 10 ZISILS I/Z'_QZ # 5 o 1.(35.8 5-5-3-2 37.0 3 (5+33(; iy e
R:NZ—ka1—R B:ET4SUYR NEBUS
~ ~ 6 | M. SVI)L 1:36.0 7-7-6-4 |36.8| — 7 485 | EMLE (Hatd)
3N 4 | F—TNVT Ry $55.0 a1/ (s | SEBS
RixAIAZI7—R 89— L—7 /=Y Tr—I
» H o6 | BEXKX 1:36.1 2-2-2-3 | 37.4| - 4 | 514 |KEHEE CHER)
sl 6 EFTHIEX 57.0 %) #9) s0 =i
RYIRYA TSR B:EFRA—b FOJUVRT7—A
. R ——— . —4-5- - B (RFD)
51101 /8=w7ray 58S A IR © 1 & s
R:FIYYITSvo BN—LTOvYLA NVERNTP—L
S b\ 8 | AEZES 1:37.1 6-6-7-6 |37.9| — 9 455 | PEEHFR (otd)
EH 3| O0=R7ZIVIL—k # $56.0° a1/ @) |YISYT RRIAVE (@)
RiFVITHARNXN B:S—TTIRRUEI—K TATAT7—LA
<, e hER%E : -8-8- - JIISE (@t
71707 | BADVItTTIL 47 PN 1.(317).3 8-8-8-8 | 37.9 10 (4359) mﬁ%&%( )
R:Z2~hOVTUI—Y B:FAPEYRO-X Wl KB
My 3y g — H 3 | ZHEEE 1:37.4 9-9-10-9 |37.3| - 5 | 484 | EEEEEL (RotE)
8lglo| EvIYa—91L 5.0 @E) 3) KT,
R:T—VRI—Z B:FaVIVTlb TUR=4F 77— In
= p 4 5 | e 1:38.1 3-3-4-7 |39.4| - 2 486 | IAIRE GEAD)
9l7|g|7—7747 55.0 3 ws) | ZLT792 @R
RFPITRATFIIIN #:O0vvATST #HRxat 7IOU—-hT7—LA
—gR 4 6 | BLS 1:38.8 10-10-9-10 | 38.9 | — 8 498 | &FE (1IE)
10/5|5 | =3 FRAXAIL 5.0 3 «) |ERE
R:NZ—ka1—R B:EYvITRAIAI eI i)
@ 11— —BERIEI
13—7F— 2,6,8,1,10,3,4,7,9,5
20— — 2,6,8,1,10,3,4,7,9,5
30—7F— 2,6,10,8,1,4,3,7,5,9
43— — 2,10,6,4,1,3,8,7,9,5
0 ILRE
BB 2 170 JA R 2-10 1809 & 2-8 290M 3ER 2-4-10 1,970
B B 2 120H 2-4 610/ B 2-8 410 3Es 2-10-4 4,920
10 1309 4-10 980M B E 2-10 300
4 440M B8 2-10 5004

ABIC OV TRUTEREERRODDZE. THRIIZEL.




